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Topic : PHYSICS

PHYSICS

Two charges q;, q, are placed in vacuum at a
distance d, and the force acting between them
is F. If a medium of dielectric constant 4 is
introduced around them, the force now will be

(A) 4F  (B) 2F  (O) % (D) FZ

Unit of dielectric constant of a medium is
(A) Coulomb/newton-metre

(B) Newton-metre’/coulomb’

©) Coulombz/(newton-meter)2

(D) None of the above

A wire is bent into a ring of radius R is given a
charge q. The magnitude of the electrical field

at the centre of the ring is

(A) Two (B) 1/2

(C) Zero (D) 3/2

Resistance of 8Q, 10Q, 12Q are connected in
parallel to a battery of voltage 12 volt. The
current in 10€ resistor is

(A) 2A (B) 1.2A (C) 1A (D) 0.8A

An electron of mass m and charge e is
accelerated from rest through a potential

difference V in vacuum. Its final speed will be.

2eV eV

(4) B) /=

\% A%
© /50 (D) —

A ([Ayd®R) q1, g2 o YedHASIAHI d 2id3
Y54 8 duell 9 F s40{ld wo €13 8. 81 L
[AydeiRla sIFSASZls WYNis 4 YRlddl
HIAHH [ Y5dl eld W,

WHF B ©F O
YledYoi| SIESASE]S MU [Sell U 5U

(A) §6ui/y2et 122

(B) oy2ol-l23?/gdui?

(©) sdo?/eyeel-12r)?

(D) A5URl <l

dlReal R (Aogul Yldd] 2ol welldd 8 deil U
([Qyd@R q Hiudl orstl 3o, U (Agydas
QL.

(A) 2 (B) 12
©) 2 (D) 32

8Q, 10Q ¥ 120 WAt HHidHi 12 voltsil
W] Ul B34l B dl 10Q Hiel ydR Udl
ydls Hadl,

(A) 2A B) 1.2A (©) 1A (D) 0.8A

m €0 ¥al e [AYdeIR YAdd]l 8asld RaR
Ret(cuiell VvV RelfdHlel  dsldd  gRl
QuetMd 51 WA ld =l B, dl defl 2ildu
$SU 9 ULl 2

2eV eV
(A) g (B) o
eV eV
©) m (D) Y
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6. The resistance of 20 cm long wire is 10 Q. 6. 20 cm Gitdl dlRell AdAY 10 Q 8. U dlRell
When the length is changed to 40 cm. The new 18 40 cm 1Y dl {dRY k).
resistance is
(A) 10Q (B) 20Q (A) 10Q (B) 200
(€) 30Q (D) 40Q (€) 30Q (D) 40Q
7. The field at distance d from the centre on the 7. 2L dulleS dRlddl Al Yo sell Sogell d vid?
axis of a bar magnet of length 2L is Yol s1y & Qell YHUUIRIMI &2l
proportional to
d d d d
A) ———— B ———— S — - -
" (d2 4+ L2)*? ® (a2 —L2)*/2 W @iy O @ ye
d d d d
© (d2 —|—L2)2 ®) (a2 —L2)2 © (d>+12) ®) (a - L2)
8. What charge would be required to electrify a | 8. s Goeilef] Aol U2 3 % u¥ [@ydeiR
sphere of radius 25cm, so as to get a surface T m
3 C tleidl Howdd L HI2 bedl [AYdMR %3 8 2
charge density of — —?
T m2
(A) 0.25C (B) 0.75C (A) 0.25C (B) 0.75C
(C) 0.57C (D) 0.5C (€) 0.57C (D) 0.5C
9. Outer layer of atmosphere called inonosphere 9. AldldRRMI H-AIREAR YuAdcd $UL YA
plays important role in transmission of Yl wdlHeLlR .
(A) Optical waves (B) Micro waves (A) Uslel d220 (B) y18slda
(C) Radio waves (D) Infra red waves (C) syl aa (D) YResiwdl d20
10. Two field lines can never crosses each other 10. & faigd A3 1) A s0{loma Bedl «1el 5121
because, 5.
(A) field lines are closed curves. (A) &AW 4] oiy 0[] 8.
(B) filed lines repels each other (B) AA3w )] A s06{lomal 11y1sy B
(C) field lines crowded only near the charge (©) @AW [AydMRedl 15 AU 8.
(D) field has a unique direction at each point (D) [Aydalta s [oig uld A5 % (e2ll Sld
8.
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11. A circular coil of a mean radius of 7 cm and 11, ARUL 7 cm <ll [ Wal 4000 22l YAdd]
having 4000 turns is rotated at the rate of 1800 qqusn 516da Hgﬁﬂdl ?;L(*{Sflll AU B =
revolutions per minute in the earth's magnetic field 0.5 gauss) Ml 1800 URMHBIA{l-leel] dddHi
(B =0.5 gauss); the emf induced in coil will be u1d dl slgeHideleidemt el
(A) 1.158 V (B) 0.58 V (A) 1.158V (B) 0.58V
(C) 0.29V (D) 5.8V (C) 029V (D) 5.8V

12.  The energy of a photon of light of wavelength 12. 450 nm dAGULS GRAddl USRI &S]
450 nm is 512)ets1l 56 Glost 201,

(A) 4.4x107°] (B) 2.5x 1070 (A) 44x10177  B) 25x107197
€ 125x10773 @) 25x107"77 © 125x1073 @) 25x1017)

13. In the Young's double slit experiment, if the 13, A2t A dleetl WAL 51e @gﬂ HHUld
phase difference between the two waves Addl B d3l 9 s0ll dsldd ¢ Y, dl d
interfering at a point is ¢, the intensity at that [&igzﬂ dladl «{lAstimiell sul wHls@ &kl
point can be expressed by the expression eRUldld.

(A) I =,/A% +B%cos’d (A) T=4/A% +BZcos’d
A
B) 1= %coscb B) I = Ecosq)
¢ [— A Beos S
(C)I:A—FBCOS? C) I=A+ cos
(D) I=A+Bcos¢ (D) I=A+Bcosd

14.  If have energy of a 100uF capacitor charged to 14.  100uF «il 3UR1224 6 KV &l U1 s:d1e]l Had)
6 KV could all be used to lift a 50kg mass, then Qo 50kg e GUSAL HIZ2 dURpdl Sl d)
the greatest vertical height through which mass Glect[eUHi £ UM 5361 HedH GULY.... m.
could be raised is ..... m.

(A) 3.6 (B) 0.6 ©) 1.2 (D) 12 (A) 3.6 (B) 0.6 ©) 1.2 (D) 12
15.  An object is placed at a distance of 0.3 m from 15.  As uslela vidalo A48l 0.3 m vid? y3dl
1 1
a concave mirror. If the magnification is 7 8. QI Nillsbel PR el dl wledl
then the focal length of the mirror is Sog o165 QL.
(A) 0.1 m (B) 0.2m (A) 0.1 m (B) 02m
(C) 0.5m (D) 0.6 m (©) 0.5m (D) 0.6 m
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16. The optical path of a monochromatic light is 16. 2R W50 UsI2AA 4.0 cm SIS YRl S1Y
same if it goes through 4.0 cm of glass or 4.5 % 4.5 cm SIS dlddl UlQflHie]l YR sl
cm of water. If the refractive index of glass is uslelell uAdulE qMlt & B, Bl SlUell
1.53, the refractive index of the water is dlseidais 153 el dl ullldl dlseideis

e
(A) 1.30 (B) 1.36 (A) 1.30 (B) 1.36
(C) 1.42 (D) 1.46 () 1.42 (D) 1.46
N . 1
17. 1 gram of radioactive element reduces to 3 17. 1AM ASANA(sed ded 2 (eddeli vid alla 3
gram at the end of 2 days. Then the mass of AN UL B dl 6 (edyel 2id #1 dedej e
the element remaining at end of 6 days is (in (AHHD) 2HL.
gram)
1 1 1 1
A) = B) — — —
() 3 ®) - A 3 ®)
0 - D) ! 0 - D) -

18. 1 mg of substance has 2.68 x 10'® nuclei. Its | 18. 1 mg Uslefui 2.68 x 10!8 *yEaule €20 .
half life is 1620 years. After 3240 years how B Lol WU 1620 A €U dl 3240 AN Yl
many nuclei would have disintegrated ? Sedl Y(saulod [dee udg eld ?

(A) 18210 (B) 1.34x 10" (a) 18210 (®) 134x10'"
(C) 0.67 x 10'8 (D) 2.01 x 10'8 (€) 0.67 x 1018 (D) 2.01 x 10'8

19. If the light is incident on a sodium surface of | 19. B UL[SUHeAl UULE] UR 5420 A °g2d)l Uslel
5420 A just emits electron, then the work [Uld 5] 219 AR 8852\ Geos[d el
(A) 0.57 eV (B) 1.14eV (A) 0.57eV (B) 1.14eV
(C) 2.29 eV (D) 4.58 ¢V (C) 2.29 eV (D) 4.58 ¢V

20. The electric potential at a certain distance from 20. s (oigdd [agydeiRell wys wWd? [dyd
a point charge is 600V and the clectric field is Retfduied 600V wa [Ayd@= 200 N/C 8 dl
200 N/C. The distance of the point charge is..... @éqd [agzl,d@“?-"l HdR..... m.

m.
(A) 2 B) 3 (A) 2 (B) 3
©) 1 (D) 0 ©) 1 D) o
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21. The combinations of the 'NAND' gates shown 21. 1A ¢2ulddl NAND' deeil HAlgell Sl
here under are equivalent to YUGR! B

A—i] A—

(A) an'OR' gate and an 'AND' gate (A) b{oiésl-l 'OR' 32 Wl 'AND' 2

respectively (B) sis1 'AND' 32 ¥el 'NOT' AR

(B) an'AND' gate and a 'NOT' gate

respectively

(C) sisN'AND' 2 e 'OR' 2

(D) esH 'OR' A2 A 'NOT' A2
(C) an'AND' gate and an 'OR' gate

respectively

(D) an 'OR' gate and an 'NOT" gate

respectively

22. The dimensional formula of dielectric strength | 22. SI®9A[525 oole] ULRHLBLS A ....... 8.

is....
(A) M'L'TQ" @A) m'L!T2g!
(B) M'LTQ™" ®) Mm'L2r2g!
(©) M 'L'T%Q! © Ml l12!
(D) M 'L7'T?Q? @) M L2
23. If X joule of work must be done to move 23. %l 4cell (AYdeRel -10vV  [awRefdulst
electric charge equal to 4C from a place, where Ylddl fGigeﬂ 5V [aosReufdulst diddl @g
potential is —10V to another place. Where Qitﬂ 48 %di 9l<j, s X xd Sl Al X=.... J.
potential is 5V, then the value of X = ....... J.
(A) 30 (A) 30
(B) 60 (B) 60
(C) 50 ©) 50
(D) 100 (D) 100
| GUJECT : SAMPLE PAPER-2 - PAPER-2 3001CJM202222050 |
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24.

24. Two capacitors C; = 2uF and C, = 6pF in
series, are connected in parallel to a third
capacitor C3 = 4uF. This arrangement is then
connected to a battery of e.m.f. =2V as shown
in the figure. How much energy is lost by the
battery in charging the capacitors ?

C, C,
————

o

3

2v
B) 11x10°7J

(A) 22x107°7

(©) 33_2 x 107¢J (D) 13_6 x 107¢J

25. A bar magnet of magnetic moment M is kept in
a uniform magnetic field of strength B, making
angle 6 with its direction. The torque acting on
itis

(A) MB (B) MB cos 6

(C) MB (1 —cos 0) (D) MB sin 6

26. The wire
semicircular sections of radii R; and R, and
centre C carries a current I as shown. The

loop formed by joining two

magnetic field at C has a magnitude

wol /1 1 wol (1 1
A= <R—1 - R—2)<B) KR <R—1 - R—>

ol (11 ol (11
20 ) B2
© = (R1+R2)() 7 <R1+R2>

25.

26.

B1s[Aui ellcdl YHIRL € = 2uF WA Cy = 6uF
A QML Bl Hel C3 = 4pF AlA YHIAR
B1518L 53] e.m.f. = 2V "2lddl K23l 112 P56
8. dl 2113 Ul UL Udl 1A AR AelH|

Al Gloslell cuy QQNk.
C, C,
11 |1
11 1]
11
1]
CS
|1
Il
2V
(A) 22x 10707 (B) 11x107°7

©) 33—2 x 1070J (D) 13—6 x 10707
Nalls HlHee M H2Addl AUl Yoisa
[AuMd Joisly &- B &l 0 Wl Yiq el dl
Aetl U €lold 215 20k,

(A) MB (B) MB cos 0

(C) MB (1 —cos 6) (D) MB sin 6

W5 dRa BISlA Feg—C &l Ry wal Ry (Aol
H1dd] wddduisik U wstidd 8. g1 i
UdlE TUAR Yl €l dl Fog, € UR JYuisly &
QLLE.

B
1
wol (11 wol (11
© 77\rR,"®/)P 7T R TR
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27. What is self-inductance of coil which produces 27. R udle 1 Hldl Asesui 3 AnfluRed] 2
5V when the current changes from 3 amperes AnflAell 5512 Ydlell 5v Uel Adl SlA dl
to 2 amperes in one mili-second ? 3131.0'1[01-1 Aes Possead (Mld—l—‘;l?_SCC{) Hadl,
(A) 5000 henry (A) 5000 henry
(B) 5 milli henry (B) 5 milli henry
(C) 50 henry (C) 50 henry
(D) 5 henry (D) 5 henry

28. The magnetic flux linked with a coil at any | 28. 5165 412 v &l BISIAG Y 5lA s45U ¢ = 5¢3
instant 't is given by ¢ = 5t> — 100t + 300, the — 100t + 300 €l ¢2lldd A dl t = 2 AsS
emf induced in the coil at t = 2 second is s18aui el Ad emf QL1t.

(A) 300 V (B) 140V (A) 300V (B) 140V
(C) 40V (D) 40V ©) 40V (D) 40V

29. A carbon resistor has coloured bands orange, 29. WS Sl0del WAL Uell WLl AR ysi 21{01811
green, golden and silver then its resistance will R3], dldl, dllesel wa (RedR s6Rell & dl
be...... detl R ... L.

(A) 2.5£10% Q (B) 3.5+£5%Q (A) 2.5+ 10% Q (B) 35+5%Q
(C) 3.5+ 10% Q (D) 350+ 10% Q (©) 35+10%Q (D) 350 + 10% Q

30. If the energy of a photon corresponding to a 30. 6000 A dRIGGLE HRLddL d22leil §l2lelof] Glod
wavelength of 6000 A is 3.32 x 107'° J, the 332 x 10719 1 Qu d) 4000 A diaduigalal
photon energy for wavelength of 4000 A will d221s{l GId
be
(A) 111 x 10797 (A) 1.11x107197
(B) 222 x 10710 B) 222x 10719
(C) 4.44x 10777 () 444x 10717
(D) 498 x 1077 (D) 498 x 107197

31. The resistance of wire is 10Q. If the length of 31, US dlRell 1dAY 10Q & deil GWIOHI n 251l
wire is increase by n% the new resistance is dg 12 $di dell «idl 1dRY 10.2Q U B dl n
10.2Q thenn=..... =...

@1 ®2 ©3 D4 W1 ®2 ©3 D4
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33.

34,
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An electron jumps from the 4™ orbit to the 2™
orbit of hydrogen atom. Given the Ryberg's
constant R = 10° cm ', the frequency in Hz of

the emitted radiation will be

3 5 3 15
9 3
o) = 15 D) - 15
()16><10 ()4><10

The total energy of the electron in the hydrogen
atom in the ground state is — 13.6 eV. The

kinetic energy of this electron is

(A) -13.6eV B) 0

(C) 6.8 ¢V (D) 13.6 eV

The given figure shows the wave forms for two
inputs A and B and that for the output Y of a

logic circuit. The logic circuit is

@)
E.—o—-—l —Pp {
o T, T, T, T,
®B)
*"— —Pp {
O T, T, T, T,
vi
1,
O T, T, T, T,

(A) an AND gate
(B) an OR gate
(C) a NAND gate

(D) a NOT gate

32.

33.

34,

SlOSIael WRHIQUI das2lel ylefl seiuigl
565 HIRL il satdi w1d 8. B Rswdl
UAALS R = 100 cm |, Sl d) Ged%et Uil
19 [l Hz Hi 2014l

3 5 3 15
(A) 16><10 (B) 16><10
9 15 3 15
— ~ %10
© T x 10 (D) ) X
SlOSlwel  URMIQMI  wRiRellddi &4l

gasdlelell 54 Gl - 13.6 v B. dl
SEERECIRTGIELENEN

(A) —13.6 eV (B) o

(C) 6.8¢eV (D) 13.6 eV

WLS[AHL ASs 415 el A Sedye A M B
dell AHIBeye v e2ldal 8. L dlleysde sl
S\,

(A)

(B)

(A) AND 2
(B) ORI
(C) NAND e

(D) NOT 32
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35.  To get an output 1 from the circuit shown in | 35. oflAsil Ulugui wWIGlYe 1 Aaddl Sy
the figure, the input must be B 1€52l.
A — A—
D D
C C
(A) A=0,B=1,C=0 (A) A=0,B=1,C=0
B) A=1,B,=0,C=0 (B) A=1,B,=0,C=0
C©) A=1,B=0,C=1 ©) A=1,B=0,C=1
D) A=1,B=1,C=0 (D) A=1,B=1,C=0
36. A current of 2A flows in a system of | 36. ofld ¢2U{Adl dlSsell dAHi 2A %edl udls
conductors shown in figure. The potential UAIR Ydl €l dl ﬁﬂdfiﬂr(:lHldd-l dsldd v
difference Vg — V| will be — Vp Hadl,
A) -1V (B) 2V A) —1v (B) 2v
€ 1v (D) 2v ©) 1v (D) 2v
37. A galvanometer of resistance 100 ohm gives 37.  100Q "lddl AedalHle 0.01 A Udle éG[Q%C—[
full scale deflection with 0.01 A current. How Fsséssam ¢2lld 8. dl il AedeflHlera 10A
much resistance should be connected in parallel gHdl uRlddl A{leMi ¥Rddl dedl A
to convert it into an ammeter of range 10 A ? UHIARML Bed] WdR1Y 1Sl uS.?
(A) 0.10 (B) 1.00
(C) 10.00 (D) 100.00 (A) 0.10 (B) 1.00
(©) 10.00 (D) 100.00
38.  The self-inductance of a straight conductor is 38.  lul Ydles die] HIHWS.
(A) Zero (B) Very large (A) 2o (B) Woi {1g
(C) Infinity (D) Very small (C) Weid (D) W silsf
| GUJECT : SAMPLE PAPER-2 - PAPER-2 3001CJM202222050 |
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39. The inductance of the motor of a fan is 0.1 H. 39, ulefl Hl2re] AU Scd 0.1H S1d dl d= 50Hz
In order to provide maximum power at 50 Hz U2 HedH UlaR 1Y sl %l
to it
(A) 100 Q resistance must be connected in (A) 100 Q <1l WA ARH BLSalHi 4119
ies to it . . .
series 1o (B) 100 uF cll $3o42e AQ{HI BLsalMi +41d
B) 100 pF d tb ted i . .
(B) 100 uF condenser must be connected in (€) 15 Q o1l WANYA AR BlsaMi w1d
series to 1t ) ) .
(D) 50 uF il $3e4Rel AR{HI BIsAlMi 14
(C) 15 Q resistance must be connected in
series to it
(D) 50 pF condenser must be connected in
series to it
40. A metallic square loop ABCD is moving in its 40.  w1s(dui eollcdl U1l (Hufd Yuisly &-al

own plane with velocity v in a uniform
magnetic field perpendicular to its plane as
shown in the figure. An electric field is

induced

o eAe o sPBe o o

o o De o s (s o o

(A) In AD, but not in BC

(B) In BC, but not in AD
(C) Neither in AD nor in BC

(D) In both AD and BC

S N e 2
o o |e e o] o Ve o
-......‘. e oDe o 2(Co o o

du ydles dlRe) U6, ABCD 3 v ddeil
Uldlell dHdaHi aAld 52 8 dl Gausl ud
(gt AHi 2.

e oA s o

(A) AD HiURlBC Hi &l
(B) BC HiuBl AD Hi o8]
(C) AD ¥ BC Ui =&l

(D) AD sl BC tiaHi

3001CJM202222050
E +H /25012023
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CHEMISTRY

Consider the reaction : 2N,0, = 4NO,.

If - dIN,0,] _ kand d[NO, | —k' then

dt dt
(A) 2k'=k (B) k'=2k
(C) k'=k (D) k= %k’

Which of the following graph represent a first

order Reaction ?

) log (ax) \

e
(B) log (a-x)
1/t=—»
1
© t e
a—+
(D) 1 and 2

What will be the electrode potential of Cu
electrode dipped in 0.025 M CuSQy solution at
298 K. Cu has the standard reduction potential

0.34V :-
(A) 0.047 V (B) 0.293 V

(C) 035V (D) 0.387 V

2N04 = 4NO, U[sUL U1

ol - AN:0 ] agq dINO]_ o @l )

dt dt
(A) 2k'=k (B) k'=2k
©) K=k (D) k= %k'

oflAef 1ol S s YU sl UlsAL e2lld
82

) 1og @x) \

[
®) log (a-x)
1/t=»
t 14
©)
a —»
(D) 1344 3 iq

Cu <l [Aydyda 298 K dluHld 0.025 M
CuSO4 ol ¢ldQMi SeilsdlMi ¥id dl dd
([Agydydell Ul2(R14dsq YR 352G &Iy, (Cu <l
WHL[8Id Rss21et Ul (2144 0.34 V )

(A) 0.047V (B) 0.293V

(€) 035V (D) 0387V
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ALLEN
4.

The current of 9.65 A is passed for 10hrs
between nickel electrodes in 5L of a 2M
solution of Ni(NOs),, the molarity of solution

after electrolysis would be
(A) 0.46M (B) 0.92M
(C) 2M (D) 0.54M

The value of E° of Mg2+ / Mg, Zn*" / Zn and
Fe?* / Fe are -2.37V, -0.76V and —-0.44V
respectively. Then state the correct statement

from the following.

(A) Zn reduce Fe** o] (55211 53 B,
(B) Zn reduce Mg2+
(C) Mg oxidise Fe

(D) Zn oxidise Fe

The Elevation in boiling point of a 1 molal
solution of glucose is 2K, depression in
freezing point of a 2 molal solution of glucose

is also 2K. State the relationship between
K, and K;is ?
(A) Ky =1.5K; (B) K, =0.5 K¢

(C) Ky =2Ks¢ (D) Ky =K¢

What is the order of osmotic pressure of

equimolar solution of BaCl,, NaCl and glucose
?

(A) Glucose > NaCl > BaCl,
(B) BaCl, > NaCl > Glucose
(C) NaCl > BaCl, > Glucose

(D) NaCl > Glucose > BaCl,

[s5€ Y d3 5L, 2M Ni(NO3); <il ¢ldBle 9.65
A Udle d5 10 sdls [dydlaelesel sdi
¢laglefl Aigdl Sedl o118l 282 2

(A) 0.46M (B) 0.92M
(C) 2M (D) 0.54M

M2t/ Mg, Zn®" 7 Zn WA FeT / Fe el E° o
Y| Waist —2.37V, —0.76V Ha —0.44V 8. dl
ol Aet el A1y (Aol Qd) .

(A) Zn, Fe?" of RS524 53 B.

(B) Zn, Mg?" o R5521e 52 B.

(C) Mg, Fe o ¥{1[5452l1 53 .

(D) Zn, Fe o 2154321+ 53 .

3gsloell 1 Hl4d ¢ldRlell Gcsdet(oigHi adl
ayiRl 2K 8. 2gslyell 2 Hldd ¢ldQlel

SIR[GIgHI ad) gelsl Ukl 2K 8 dl Ky, 3a Ky
ol jouiy asuldl.

(A) Kp=15K¢ (B) Kp =0.5Kg

(©) Ky =2K¢ (D) Ky, =K¢

BaCly, NaCl ¥l 2¢5lell UHHER ¢ldRll il
L [C1AL £ 1R o1l 5H U B2

(A) 24512 > NaCl > BaCly
(B) BaClp > NaCl > 24512
(C) NaCl > BaCly > 2451
(D) NaCl > 9451% > BaCl,
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10.

ALLEN

Which of the plots is adsorption isobar for

chemisorption?
f f
(A) = B) *
m m
T—>» T—»
r r
x X
© - \ (D) *
T—> T—»
Column-I Column-II
) Movement of
Electrophoresis . .
A. P. | dispersion
molecules )
medium
) Mechanical
B. | Electro-Osmosis | Q.
property
C. | Tyndall effect R. | Optical property
) Determination of
Brownian
D. . S. | charge on
motion .
colloidal

(A) A-Q;B—->P;C—->R;D—>S
B)A—-Q;B->S;C—->R;D->P
) A-S;B—>P;C->R;D—-Q
MD)A—-P;B—>S;C—-Q;D—>R

NH3, C02 and
H, adsorbed by one gram of charcoal at 300 K

The volume of gases

are in order of ?
(A) H,>CO,>NH; (B) NH;>H,>CO,

(C) NH;>CO0,>H, (D) CO,>NH,>H,

8.

10.

AURMLRLS w(EANLL HIER <flAHi]l s
W 1AW A [HQANEL HEL6{] B2

t t
(A) = ®) *
T—» T—»
f t
© \ D =
T— T—»
LRI | LRI
ga521513 1A (A@uel Hleyysl
A. P.
N aA(d
[agdla : ‘
B | o (el Q. [ uilAs
C. | 2lsd AU R. | ustefly deiu
D. | 4llGefluetofd  |s. sdlls 53l Guaell
(clos@ilRedl vl

(A) A>Q;B—>P;C—>R;D—S
B) A-Q;B—>S;C—R;D—>P
©) A-S;:B—>P;C—->R;D—>Q
D) A-P;B—S;C—>Q;D—>R

300 K dlUlal A5 A URSIE U A [HINKl
U6 dly NH3, COp ol Hy ll Seell 54 :

(A) Hy >COy>NH3 (B) NH3>Hjy>CO)

©) NH3 > CO5 > Hjp (D) COp>NH3 > Hj
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11. A crystal contain 12.08 X 10%* unit cell of an 1. As (25 BCC GHRYUHI ded 12.08 x
element in the BCC structure. What is the total 1023 AsHSIN YR1d 8. d %5@51-12-1 ele{H ] 54
number of atom in that crystalline solid ? llll-ll'{l,bnd'l vl sedl?

(A) 24.16 x 107 (B) 36.18 x 102 (A) 24.16 x 1023 (B) 36.18 x 10%3
(C) 6.04 x 107 (D) 12.08 x 1023 (C) 6.04 x 1023 (D) 12.08 x 102

12.  If the length of the edge is 400 pm then whatis | 12. %] dRefl dollg 400 pm SRl dell
length of Body Diagonal ? vid: (A5l LS .........

(A) 500 pm (B) 600 pm (A) 500 pm (B) 600 pm
(C) 566 pm (D) 693 pm (C) 566 pm (D) 693 pm
13.  Electrolytic reduction of alumina to aluminium 13.  &ld-&UGe Useg, (i ARy (Yol o]
by Hall-Heroult process is carried out ﬂc'?:l,[ilft'hl]-ll-l[ Rss2Uet ...
(A) In the presence of NaCl
(B) In the presence of KF (A) NaCl il sl3Hi 2l B.
< .
(C) In the presence of cryolite which forms a (B) KF fl e1dlui i 8.
melt with lower melting temperature (€) sllldige-dl sl a8 5 @ «{lui
, , Adei(0igdly) (Udlee uisild 8.
(D) In the presence of cryolite which forms a )
melt with higher melting temperature (D) Slmcﬂ?j&’ﬂ LMl AR B 5 % Gl
Adst(eigdlyy (UG Weild B.

14.  Which of the following is not a refining | 14. oflAsiliHiel] s2A) Qe 5 UsH «ief] 2
process
(A) Bayer Process (B) Van-arkel process (A) QY ngg[a (B) dlel ¥45q l-lif,[a
(C) Liquation (D) Poling (C) ¢dolele (D) Jl(Ea1

15.  Consider two reactions 15.  Qusuia{l i dl.

L. Zn + conc. HNOj (hot) — Zn(NO;), + X + H,0 I Zn + Ai¢ HNO3 FRH) — Zn(NO3) + X + HyO
1. Zn + dil. HNO; (cold) — Zn(NOs), + Y + H,O IL. Zn +H& HNO3 (63) — Zn(NO3)y +Y + HyO
Compounds X and Y are respectively :- Adloget X el Y 2;.101311 8.

(A) N,O,NO (B) NO,, N,O (A) N,O,NO (B) NO,, N,O

(C) N», N,O (D) NO,,NO (C) Nj, NrO (D) NO,, NO

| GUJECT : SAMPLE PAPER-2 - ALL
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16. In a molecule of phosphorus (V) oxide, there 16. 81364 (V) 1sU16Sell MU, o121l U8 9]
are &1 &2l ?

(A) 4P - P, 10P-O and 4P = O bonds (A) 4P — P, 10P—O D¥{a 4P = 0O ¢iYy
(B) 12P —O and 4P = O bonds (B) 12P-0 ¥ 4P=0 iy

(C) 2P -0 and 4P = P bonds (C) 2P -0 ¥ 4P=P iy

(D) 6P — P, 12P-O and 4P = P bonds (D) 6P—P, 12P-0 ¥ 4P =P 0iYy

17. Which products are expected from the | 17. &lSUlSARY ASe] (ANH]swL ulsuLell 58
disproportionation of hypochlorous acid : ol WIH 14 2
(A) HCIO; & CL,O  (B) HCIO, & HCIO (A) HCIO3 & Cl,0  (B) HCIOy & HCIO
(C) HCl1 & C1,0 (D) HCI1 & HCIO3 (C) HCl1 & C1L,O (D) HCI & HCIO3

18.  The common product of hydrolysis of XeF, & | 18. XeFy ol XeFg o B[ [%sl $cll S¢ UM IR
XeFg is/are :- o{lue 4 2
(A) Xe, O, (B) XeO3, O, (A) Xe, O, (B) Xe03, 0,

(C) Xe, XeOs (D) Only HF (C) Xe, XeO3 (D) I HF

19. Choose incorrect order : 19.  Wwl2l sM ue 52
(@) EN.=F>Cl>Br>1 (a) [AYd=8ldl =F > Cl > Br>1
(b) Bond dissociation energy = Cl, > Br, > F, (b) 6itl [ARlloet @1l = Clp > Bry > F2 > Ip
>1, (c) Y [AS]S UKL = HI > HBr > HCI > HF
(c) Acidic strength = HI > HBr > HCI > HF (d) Ges@let mg = HF > HI > HBr > HCI
(d) Boiling point = HF > HI > HBr > HCl
(A) a,b,c,d (B) a,bonly (A) a,b,c,d (B) HlAa,b
(C) a, conly (D) None (C) HlAda,c (D) AsULl <&

20. When MnO, is fused with KOH and KCIO;, a 20.  2RIR MnOy ¥ KOH s KCIO3 18 [Udlds
coloured compound is formed. The product and U UR R3{let %ol W B, dl wleld]l «flues
its colour is :- ¥ 23 %RlLdl.

(A) K,MnQy, green (A) KoMnOy, dl4l
(B) KMnOy, purple (B) KMnOgy, %Sl
(C) Mn,03, brown (C) Mn03, 528
(D) Mn;0y,, black (D) Mn304, 5l01l
| GUJECT : SAMPLE PAPER-2 - ALL 3001CJM202222050
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21.

22.

23.

24.

ALLEN

IUPAC name of [Co(NH3)sNO,]SO, is :-

(A) Nitropentaamminecobalt (III) sulphate
(B) Pentaamminenitritocobaltat (I11) sulphato
(C) Pentaamminenitrito—Ncobalt (III) sulphate

(D) Pentaamminenitrocobalt (II) sulphate

Which of the following molecules or ions may

act as a bidentate ligand?

(a) CO;”  (b) NH;

(¢c) CH;CN (d) C,04%~
(A) bandc (B) aandd
(C) aandb (D) candd

A magnetic moment of 1.73 BM will be shown

by one among the following :
(A) [Ni(CN),J*
(B) TiCl,
(C) [CoCl*
(D) [Cu(NHy),]*"
Which is least reactive towards nucleophilic
subsitution (Sy?)
(A) CH, =CH - CH,CI
on
CH,—C—Cl
(B) Cn,

(C) CH,CI

(D) CH; - CH(CI)CH;

21.

22.

23.

24.

[Co(NH3)5NO,]SOy4 o TUPAC «llH$0L...
(A) Al U6 Sl6llE (111) UG5
(B) e | |6elai1652] Sl6dle (11T) AEd2)

(C) U lAWEeall21852)-N  slulle (11D
ueke

(D) Uszl Wy (el ol1652) SIICR (IT) UG

wUe US] sUL WA [GédlA @S 43l
ad 82

(a)CO3>~  (b)NH;3
(©)CH3CN  (d) Cy04%"
(A) b ¢ (B) auad
(C) a¥ab (D) c ¥ d

g sl sul As ARl Yoisla AlsHIHL
1.73BM 8 ?

(A) [Ni(CN)41*
(B) TiCly

(©) [CoClg]*
(D) [Cu(NH3)41*"

wid V4] 53 Jeglo21o0l (GReUUA (Sn2) U
el 2NH AU5U B 2

(A) CHp =CH - CH)Cl

on
(B) CH;—C —Cl
|
CH,

(C) CHsCl

(D) CH3 - CH(CI)CH3
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25.

26.

27.

28.

ALLEN
25.

OH

Na o CH3—Br>B; then B is :

7z

H O-CH,

(A) (B)

CH,

(C) Anisole (D) Both (2) and (3)

OH OH

@ CHCI, /NaOH @CHO

Name of the reaction given above :

(A) Kolbe's reaction
(B) Carbylamine reaction
(C) Reimer Tiemann reaction

(D) Haloform reaction

Methyl alcohol can be distinguished from ethyl

alcohol using

(A) Fehling solution

(B) Schiff's reagent

(C) Sodium hydroxide and iodine

(D) Phthalein fusion test

11 CulfA
2) dil. NaOH

CH.CH,OH
Major product
(A) 3-hydroxybutanal
(B) CH5;-CH=CH-CH,0OH
(C) CH3-CH=CH-CHO

(D) None of these

26.

217.

28.

OH

Na (:}13_]3r> B; B %Qlld).

7

H O-CH,
(%) @ (B)
CH,

(C©) AlAdld

OH OH

@ CHCI, /NaOH @CHO

WG U[5ULs] oM

(D) (2) ¥l (3) Wial

(A) slen ufsul

(B) slu{gfd WA (651 W[5l
(€) AHR-(eul ulsul

(D) &dlsli ulsul

Mulsd wieslelda w0d sl Slel Gulal
53] 51699 v{leslelae]] 146 YlRufl s1 2

(A) deldal ¢ldul

(B) 15 ulsus

(C) AUSUY SlPISISULTS Wl W RISlel
(D) W[t Jeel 53121

1) CulA
2) dil. NaOH

CH.CH,OH
Yuy of|luey

(A) 3-elslsuuyeaild
(B) CH3-CH=CH-CH,OH
(C) CH3-CH=CH-CHO
(D) AsURL <&l
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29.

30.

31.

ALLEN
29.

In the given reaction:

HCN LiATH,
A

(@
=
°

A and B will respectively be:

o (o
o

(O
O

Which of the following compound has highest

(A)

(B)

©)

(D)

QQQQ

rate of Decarboxylation:-

o
COOH
e

COOH
COOH

(C) © (D) ij/COOH

Consider the following reaction

COOH
SOCl, H,/Pd
BaSO4
Product B is
H;
CH,0H CHO
(A) © (B) @ (©) @ (D)
H3

30.

31.

WG U[SAIHD A Wl B U sH...

HCN LiAIH,
—A B
H,0

oo
Lo

eL
O

(A)

(B)

©

QQQQ<Q

(D)
Jfl3 w9 Yl yUlowelel
(Ssioil(su@gletel ¢2 aﬂeﬂ qg &2l 2
o)
COOH
Lol
COOH

COOH

0
©) © D) é/COOH

of1ef] UlsUl LUt IH] 4.
COOH

s0Cl, H,/Pd
—A —B

BaSOy4

CH,
(o]
©) @ (D)
CH,

CH,OH
(A) @ (B)

| GUJECT : SAMPLE PAPER-2 - ALL
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32.

33.

Yis:
“ Q-d-w®)

0
I

® @-tou-©
o
I

© @410

0
I

(G-,

In the reaction,
NH,

NaNO, /HCl ) CUCN/KCN
0-5°C

E+N,

The product (E) is:

(A)

(B)

N Q Y
@'EEQZ

COOH

©)

CH,4
wed Q-

<0~

33.

(6]
I
<(§-No2 Ferhidl , x  Sefls—C=0 Ly,
YA o,
0
» ©r-t-w0)
I
® Q-t-o0-m-0)
o)
I
o ©-t-v-0
OH
0
D |
@t
U(sAHI,
NH,
NaNO,/HCl I CuCN/KCN E+N,
0-5°C
CH,
dlux (E) A .............

CN
(4) @
CH;
CH,

6

COOH

@¢]

CH,
o ne{(O)0)
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34.

35.

36.

37.

38.

ALLEN

Acetamide changes into methylamine by

(A) Hofmann bromarnide reaction
(B) Hoffman reaction

(C) Friedel-Craft’s reaction

(D) Hinsberg reaction

DNA contains following purines bases —

(a) Adenine (b) Guanine

(c) Thymine (d) Cytosine

(A) a, ¢ (B) a,b

(C) a,c,d (D) a,b,c,d

The non-essential amino acid among the
following is:-
(A) Valine (B) Leucine
(C) Alanine (D) Lysine
Buna-N syntheitc rubber is a copolymer of :
(A) H,C=CH-CH=CH, and CqH;CH=CH,
(B) H,C=CH-CN and H,C=CH-CH=CH,
(C) H,C=CH-CN and

H,C=CH—C==CH,

CH,

(D) Cl
l and H,C=CH-
H,C=CH—C==CH,
CH=CH,
Which one of the following is a polyamide ?
(A) Teflon (B) Nylon-6,6

(C) Terylene (D) Bakelite

34.

35.

36.

37.

38.

ARRULISS W HYULSd AHITeAH] Slodl G2l
dUARD 2l & 2

(A) ElsHet GlHIHIES Ulsul
(B) &lsHel ulsl

(C) slsa-slsed sl

(D) Eledtod] Ulsul

DNA 541 }Rel Q&5 81 8 2

(a) W3eilel (b) 2dls{lst

() Ml (d) A1l

(A) a,c (B) a, b

(©) a,c,d (D) a,b,c,d

ol Aet el 53 (Glot w1aYs W [HeAl W[RHS B 2

(A) dl@s (B) Rl
(C) NAsilEe (D) dlals

1A N 2042 Buna-N W slell Ys-Ul[aHR & 2
(A) HpC=CH-CH=CHj s CgH5CH=CH>
(B) HyC=CH-CN ¥{al HyC=CH-CH=CH,
(C) HpC=CH-CN W
H,C=CH—C=CH,
CH,

(D) Cl
| We HyC=CH-
CH=CH,
ol Aet el 5y Ul[GRAHISS B 2

(A) 25€lel (B) <lludll-6,6

(€) 23¢la (D) W34l
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39. Tranquillizers are substances used for the 39.  uelidsl «{lAetiniell Asfl ARARU dujy” B 2
treatment of :
(A) cancer (A) 342
(B) AIDS (B) AIDS
(C) Mental diseases (C) Hlai[¥s 1
(D) Physical disorders (D) 2AwRRs AL
40. Which of the following artificial sweetening | 40. o{lAsiiviel sd sEH AN uslel LY
agent is unstable at cooking temperature ? Weilddleli diumia AR B 2
(A) Aspartame (B) Alitame (A) RleH (B) A(g2y
(C) Sucralose (D) Saccharin (C) Ysldl (D) A>3t
GUJECT : SAMPLE PAPER-2 - ALL 3001CJM202222050
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Topic : MATHEMATICS

MATHEMATICS

Iff(1)=1,f(n+1)=2f(n) + 1,n>1 then f(n) =
(A) 2" +1 (B) 2"
(C) 2"-1 (D) 2" 11

Which of the following binary operation is

commutative.
(A) onR givenbya *b = a’b
(B) on R given by ab = a-b

(C) on P(S) the power set of S given by
AAB = (AUB) - (ANB)

(D) All (a), (b) and (c)

If f(x) = cos (logx) then
1
(00109~ 3|1 (2) + ] -
1
A) -1 (B) 5
(C) 2 D)o

Ifsin™! (1 —x) —2sin"'x = % then x is :

1

(A) —3 (B) 0

© 5 ® 1
If 6 sin ' (x> — 6x + 8.5) =« then
(A) x=1

(B) x=2

(€) x=3

(D) x=38

1.

A\ £(1) =1, f(n+1)=2f(n)+1,n> 1l f(n) =
(A) 2" +1

(©) 2"

(B) 2"
(D) 221

ol 1Mied] 58 (¢5-[5UL sHoAL [(UHs] Ulded 52
8.

(A) RU.?.a*b=a2b
(B) RURab=a-b

(C) P(S) W S «ll elddl €ld Ha deil U
AAB = (AUB) — (ANB)

(D) (a), (b) ¥l (c)

4l f(x) = cos (logx) dl
1

£ -£(y) - 5 {f (;) + f(xy)} -

A 1

(A) -1 B) 5

(©) 2 D) o

%) sin~! (1 —x) — 2sin"'x = g dlx=...

1
A) ~5 (B) 0

© 3 ®) 3

%) 6 sin L (x2 - 6x + 8.5) =, l.......
(A) x=1

(B) x=2

©) x=3

(D) x=8
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6. If 9 —sec!'x+cosec x—cot'x where | 6 ¥l 0 =sec'x+cosec 'x —cot 'x Wi x> 1
x > 1 then dl
(A) = 3m B L2 il 3 T
s<o<  Bo<ocy (A) 5 <0< (B) 6<0< 7
T T T < e T
© z<0<z (DO © 7<0<37 ™o
7. T r—1 7. T r—1 )
matrix A; = where r = 1,2,3 A3ls A = Al r = 1,2,3
r—1 r r—1 r
100 100 K
LIEY A = (VIO then K= .. LT A = (VIO) dl k=
r=1 r=1
(A) 2 (B) 6 (A) 2 B) 6
C) 4 (D) 8 ©) 4 (D) 8
8 i 0 —i i 8. i 0 —i i
If P=|0 — i and Q=0 0 NP=|0 —i i [#H#1Q=|0 0 |dl
-1 i - i 0 i —i
then PQ = ...... PQ=....
-2 2 2 =2 -2 2 2 =2
A |1 -1 B |-11 @A |1 -1 B) |-11
1 ] -11 | 1 i -11
_ _ 1 0 0 _ - 1 0 0
2 =2 2 =2
©) @ [0 1 0 (C) M (0 1 0
11 -11
- - o 0 1 - - 0O 0 1
9.  Iffisodd function and f'(2) = 5, then f (—2) | 9. Bl YoM (AAY Sl A £'(2) = 5, dl £ (-2)
(A) 7 (B) -7 (A) 7 (B) -7
(C) 5 (D) -5 © 5 (D) -5
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10. 2 10. .
Ifx =sin 't, y = log (1 — %), then H = %\ x = sin lt, y=log (1 -t ) dl < ) =
dx? =1 dx? %
2
8 8 8 8
A) —2 B) = _° il
(A) 3 (B) 3 (A) =3 (B) 3
©) = D) -7 © 5 D) —3
11.  The point... on the parabola y = (x — 3)* is such 11, WRday y = (x — 3)2 Uq [(Gig 204l & el
that the tangent at that point is parallel to the (0ig, 121000) ULls A (6ig A3, 0) A B4, 1)
chord joining points A(3, 0) and B(4, 1) A LSl 2l UHidR €.
71 7 1 71 7 1
(A) <_§’Z) (B) <_5’_Z> (A) (_5’Z> (B) (_E’_Z>
7 1 71 7 1 71
©) (5,—2) (D) < ) © (5, Z) (D) <5’Z>
12. , 12. :
/{f(3—2x)}5f (3 —2x)dx = +c /{f(3—2x)} f (3 — 2x)dx = +c
1
(A) ——{f(3 —2x)} (A) —5{f3-2)}°
1 6
(B) E{f(3 —2x)}° B) G -2x)}
1 1 6
© {3~ 2x)}° ©) {3 —2x)}
1 _ l . 6
(D) — {3~ 2}° D)~ =2}
13. 2007x + 2008 _ 2007 13. / 2007x 4 2008 _ 2007
SR el d
it / (2008x +2007 ) = 2008 2008x 12007 ] T 2008"
+A 10g|2008x + 2007 + ¢, then A =............ +A10g|2008x + 2007 + ¢, dl A=...........
REELUE . 4015 4015 4015
_ A B —
) (2008)? (2008)* ) (2008)° ®) (2008)°
4015 4015 4015 4015
C D) ——— C D) — o
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14. Ilaxi speaks truth in 75 percent cases and 14.  gdlefl 75% (x4 Hl?i o{1d & W4 14 80%
Foram speaks truth in 80 percent cases, then in (534 1M1 Uy od 8. dl dedl 25l [sUH] vid
how many percent of cases they contradict each A so{lostell [ER’*Q [AAdeet w1ugl?
other.

A)3%  B)5ss ()40 (D) 15 (A)35 (B)S55 (©)40 (D) 15
15. A and B are independent events of sample 15. A ¥al B (€08 e2el) 8 3 B2l P(A) < P(B).
space such that P(A) < P(B). If %31 P(ANB) = 11_2 u{a P(A, N B') - %
1 ' ' 1
P(ANB)= 17 and P(ANB)=5 then dl P(A) — P(B) = ......
P(A)-P(B)=.........
A ! B ! A : B !
5 11 S n
16. The probability of an event that student gets I, 16. As [(auelll uReimi I I el 11 AS
1 31 . 1 31
I and I grade in exam is -, 3,7 Naddlefl deldell s T 8. dl d
respectively. Then.... is the probability that he [Qertelofl uRetii sltul ddlel Aetidel...
fails in exam....
197 27 197 27
A) — B) — —_ =
) 350 ® 160 ) 200 ® Too
83 127 83 127
©) 100 (D) 100 ©) T00 (D) 100

17. The maximum and minimum value of z = 3x + 17 x+y<2,x>0,y>0 o Altlel z = 3x + 2y ol
2y subject to constrains x +y <2, x>0,y >0 HEdH wa ey (B4 ... 8.
is
(A) 40 B)o64 (C) 74 (D)60 (A) 40 @B 64 ()74 (D) 60

18. 2 18. 2

1 a a 1 a a
If f (@ = |a a° 1], then f(y/3)= % f (@ = |a a° 1/, dl f(\3/§):
as 1 a a& 1 a
A4 B4 ©€) 2 (D) -2 (A) 4 (B) 4 ©) 2 D) 2
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19. The roots of the equation 19. 1 1 x
1 1 X W5 |p+1 p+1 p+x|=0cidly
P-|-1 P+1 p+x=0are ............. 3 x+1 x+2
3 x+1 x+20 . 8.

(A) x=1,2 (B) x=2,3 (A) x=1,2 (B) x=2,3
(C) x=1,p,2 (D) x=1,2,-p C€) x=1,p,2 (D) x=1,2,p

20. If the area of the triangle with vertices (5, a), 20. (A5l @lamgb{] (5, a), (7, 6) ¥ (3, 2)
(7,6) and (3,2) is 10, thena = ............. GIRL UL [Asl€ls 8450 10 €A dl a =
W10 B4 © -1 O Wi ®4  © -3 O -

21. Thecurvey =x’+ax +bandy =x(c-x) | 2I. dsy=x2+ax+bHay = x(c —x) Aseilosta
touch each other at (1, 0) then.... (1,0) A1 WA Bdl...
(A) a=-3,b=2,c=1 (A) a=-3,b=2,c=1
(B) a=3,b=-2,c=1 (B) a=3,b=-2,c=1
(C) a=-1,b=23,c=2 (©) a=-1,b=3,c=2
(D) a=1,b=2,c=3 (D) a=1,b=2,¢c=3

22. If y = x’* then in which interval, y | 22. Rly = x%* dl 5ul didA@H] y Yxd aug
increases w.r.t x ? ([QBy 9l 2
(A) (—o0,0) (B) (-2,0) (A) (—0,) B) (-2,0)
(©) (2,) (D) (0,2) © (2,%) (D) (0,2)

23. Ifline ax + by + ¢ = 0 is tangent to curve xy = 23. QLlax+by+c=0¥Wdsxy=4-cll wels
4 then Slddl ...
(A) a>0,b<0 (B) a<0,b>0 (A) a>0,b<0 (B) a<0,b>0
(C) a<0,b<0 (D) a<0,b<0 (©) a<0,b<0 (D) a<0,b<0

24. / 2%(F'(x) + log 2.f(x))dx =. . . ... .. e 24. / 2 (£ (x) + 1og 2.£(x))dx =. . ... .+
(A) 2°f (x) (B) 2*f(x) (A) 2°f (x) (B) 2*f(x)
(C) 2%(log 2)f(x) (D) (log2)f(x) (C) 2% (log2)f(x) (D) (log2)f(x)
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25. / (e"X log x 1. log x ) dx =...+C 25. / (ee" logx 1. bi) dx =...4+C
e—exlogx e—exlogx
) X ®) (a) X% B) x*
(5 (§] €
© - (D) log(xe) © - (D) Tog(xo
1 o —1 =y xsin—!x
2. / sim_ X oo XsimoX tklog |1 — x| e. / S 3dx: +klog |1 —x*+c
(l—Xz)% Vv 1—x? ' ' (1 —x2)2 V1—x? ‘ '
thenk=......... dAlk=.....
a) 1 ®B) 1 L _1
> -3 A) 5 (B) —3
©) 2 (D) -2 ©) 2 D) 2
n n
27. | 27 .
/ sin(x = [x])d(x—=[x])=...oviiiiiin. . / sin(x — [x])d(x = [X]) =-eevevrnniin
0 0
A) 1 oL 1 L
5 ®) 1-— (A) 5 ® =5
©) 1 (D) None of these ©) 1 (D) WsUQ (&
9 9
28. /[\/i+ 2dx =il where [.] = 28. /[\/XJF 2JdX =i oRlj [.] = He&xdH
0 0
greatest integer function. I;l,@.lfs (agx.
(A) 31 (B) 32 (A) 31 (B) 32
(C) 23 (D) 18 (C) 23 (D) 18
29. 2 29. 2
If f is odd function and / f(x)dx = 5 then Bl £ 3 1YY [AAY SlY uA / f(x)dx = 5
0 0
0 0
/f(X) dx = ... (D. /f(X) dx= ..o
-2 -2
(A) 10 (B) 0 (A) 10 B) 0
©) 5 (D) -5 ©) s (D) 5
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30.

31.

32.

33.

34.

ALLEN
30.

The area bounded by the curve y = €, x = 0

and y = e is .... square units.

(A) /log(e + 1 —x)dx
1

(B) / e*dx
1

©) 2
(D) 3
The area of region bounded between curve y =

T s ..
cotx, X = 1 X = > and X-axis is...

3 1
(A) log2 (B) —log2(C) —log2(D) 2log?2
2 2

The solution of the differential equation
(x+y)dx+xdy = 0 is
(A) X +y*=c (B) 2x*~y’=¢

© X2+2xy=c (D) y2+2xy=c

A curve y = f(x) passing through the point (2,1)
and f"'(x) = 6(x—1). the tangent at this point is y
=3x -5 then f(x) =....
(A) (x+1)° B) (x-1)’

(©) (x+1) (D) (x- 1)’

2 +sinx dy
— | === 0)=1 th
( o > i cosx, y (0) en

()

1 2
(A) 3 B) 3

© % D) 1

31.

32.

33.

34.

dsy=¢5 x=0¥ad y =e GRILWldl Uzl
AAsA ....... 8.

(A) /log(e + 1 —x)dx
1

€

(B) / e*dx

1
© 2

D) 3

T . T
272
Rl Yle axsa ... B.

ds y = cotx, x = Ul X-HY R

3 1
(A) log2 (B) ElogZ © ElogZ (D) 2log2

([as9 415 (x + y)dx + xdy = 0 1l G34.... B.
A) X2 +y?=c B) 22 y?=c¢
© x2+2xy=c D) y2+2xy=c

dsy = f(x) W (6ig (2,1) Higl UAIR UL B Wal
£1(x) = 6(x—1). AL (Glg 12101 WRAse] Y15
y=3x-5dl f(x)=.......

(A) @+ 1)’ B) -1

©) (x+ 1) (D) (x - 1)2

<2;r$> j—i = —cosx,y(0) =1 dl
T

Y(E)Z ..................
1 2

(A) 3 B) 3

© -3 (D) 1
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35.

36.

37.

38.

ALLEN

Ifa+b+c=0and [a| =3.[b| =5.[c| =7
5/\529 then 6 = ...
A) = B) =
(A) 3 (B) ¢
2n 5w
C) — D) ——
©) 5 (D) =

If a, _b, C are unit vectors and a.b=2a.¢c =0

and the angle between b and ¢ is T then

3
FXB—5x6= .....
1
(A) 5 B) 1
€ 2 (D) 0

The line r = (1,1,1) +k (2,3,4), k € R is

coincident with which of the following lines in
R*?

(A) x—1 _y—3 _z—4
2 3 4
_ 4 — _

(B) 3—-x y:5 z
6 9 12
_ 4 — _

©) 3 X _ y:Z 5
6 9 12

(D) None of these

Which of the following is true for the line
t=(i+])+A(2i+j+4k) and plane
fo(i+2) —k)=3

(A) Line is perpendicular to plane

(B) Line is coincident on plane.

(C) Line is parallel to plane but its not on

plane

(D) Line intersects the plane in one point

35.

36.

37.

38.

Fla+bre=0 |a|=3,[b=5[c|=7
ab=0 dlo-=..
T T
A 7 B) &
c 2 D Snt
© 3 ®) 5

B) 1
(D) 0

Wl T = (1,1,1) +k (2,3,4), k € R A oA el
56 301l A1 AU R § 2

x—1 y—3 z—-4
(A) =
2 3 4
3—x 4-y S5-z
® 5 9 12
3—x 4—y z-5
© =5 9 12

(D) AsuBl«if&

WL T=(i+)+r(2i+]j+4k)
UG © - (1 +2] —k) =3 HIR2 flAed1uiel]l 54
AR D2

(A) Jul A A4 oy B,

(B) 3wl A AHdAG U uldl 8.

(C) 4L A HHAGA YHidR B U AHAE UR
oief].

(D) 4l W YHdE As (6igHi Bt
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39. If l, l, l are direction cosines of a line then, 3. R l, l, l
c'c’'c c'c'c
(A) C > O (B) 0 < C <1 ........
(€) c=+V3 (D) ¢>2 (A) ¢>0
(©) e=£v3
40.  The point of intersection of % = % = % and 40. 3y X_Y
2x+y+z=6is Belolg ..........
(A) (0,0,0) (B) (1,2,2) (A) (0,0,0)
(©) (2,1,1) (D) None of these ©) @,1,D)

W el [esslu1S €l dl

B) 0<c<l
(D) ¢c>2

gm3audqzx+y+z=6oi

(B) (1,2,2)

(D) A sUBl «isl
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